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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 876 1 0.7 2 48.5 100
2 876 2.3 1.6 5 45.8 100
3 876 1.6 1.2 3 53.3 100
4 876 4 1.4 6 65.9 100
5 875 3.6 1.3 6 60.6 99.9
6 875 2.7 1.5 6 45.3 99.9
7 873 2.9 1.9 6 48.3 99.7
8 876 2.7 1.8 6 45.5 100
9 660 12.5 3.8 20 62.3 75.3

10 71 10.9 4.3 20 54.5 8.1
11 144 12.3 3.4 20 61.4 16.4
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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GCE ECONOMICS - EC3 


Question Answer Mark 
allocation 


Assessment 
objective 


2(a) Identify the curve marked (i) in the diagram. 


Average variable cost curve. (1) 


1 AO1 1 


2(b) Explain how and why the marginal cost curve changes 
as more output is produced by the firm. 


Explanation of why MC at first falls due to increasing 
returns to a factor which reduces MC (Max 3)). 
Explanation of why MC rises at higher levels of output due 
to diminishing returns to a factor which increases MC 
(Max 3). 
Understanding of the meaning of the short run. (1) 
Understanding of marginal productivity (1) 
Understanding of marginal cost (1) 


4 AO2 2 
AO3 2 
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Sticky Note

A decent explanation of how fixed factors of production affect labour productivity. The candidate could have inserted the word 'better' before utilisation in the third line. 








Sticky Note

Some idea of the relevance of productivity. The  candidate should have used cost instead of price in places. A rather convoluted answer but just about worth 4 marks.








Sticky Note

Confusion of the short run and the long run.



Sticky Note

1 mark for understanding marginal cost.
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2.	 The diagram below shows the short run cost curves of a firm.
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	 (a)	 Identify the curve marked (i) in the diagram.	 [1]


	


	 (b)	 Explain how and why the marginal cost curve changes as more output is produced by the 
firm.	 [4]
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Question Answer Mark 
allocation 


Assessment 
objective 


7 How far do you agree with the view that demand side 
policies to reduce the level of unemployment below its 
natural rate/NAIRU only work in the short term? 
 
Use an appropriate diagram in your answer.  
Attempts to reduce unemployment below the natural rate 
by raising AD will lead to no permanent fall in 
unemployment only inflation. Explanation (2) and use of 
diagram showing Phillips Curve or AD/AS analysis (2). 
 


 
 


 
 
Evaluation: Unemployment will fall below the natural rate 
temporarily (expectations augmented theory) or not at all 
(rational expectations theory). (2) 
 
Keynesian approach has a different approach to 
management of the economy and that the LRAS curve is 
shaped differently and that changes in AD can have a 
significant effect on GDP/unemployment. (2)  


 
Maximum of 6 marks for candidates who produced a well 
explained explanation of why demand side policies will not 
reduce the natural rate of unemployment in the long run. 
      


6  AO2 2 
AO3 2 
AO4 2 
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Sticky Note

Good understanding here.



Sticky Note

Evaluation.



Sticky Note

A good diagram which can be used effectively in the explanation.








Sticky Note

A good explanation although the candidate   should have explained the process of the SRAS shifting back to intersect the LRAS at NAIRU.



Sticky Note

This diagram or the Phillips Curve could be used.








Sticky Note

Diagrams used ineffectively.



Sticky Note

Shaky understanding of the theory.



Sticky Note

Potentially useful diagrams but badly labeled.
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7.	 How far do you agree with the view that demand side policies to reduce the level of unemployment 
below its natural rate/NAIRU only work in the short term?	 [6]


	 Use an appropriate diagram in your answer.
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SECTION B 


 
Answer one question 


 
 


The following levels should be applied to each question. 
 


LEVEL MARK BAND DESCRIPTOR 


Level 1 1-5 


Candidate makes few, if any, relevant points.  There may be 
some attempt to draw conclusions, but understanding of 
connections between different areas of subject content is 
limited or not demonstrated. 
 
Information is poorly organised.  There is limited use of 
specialist terminology/vocabulary and frequent errors in 
spelling, punctuation and grammar. 


Level 2 6-10 


Candidate makes some valid points using relevant economic 
concepts and theories.  There may be some application with 
valid conclusions drawn.  Some ability to make connections 
between different parts of the subject content is demonstrated. 
 
Information is well organised and ideas are expressed in a 
logical manner.  There is good use of specialist 
terms/vocabulary with some errors in spelling, punctuation and 
grammar, but these are not intrusive. 


Level 3 11-15 


Candidate shows good knowledge and understanding of 
economic concepts and theories.  There is good application 
and analysis with solid logical conclusions drawn.  The ability to 
make connections between different parts of the subject 
content is demonstrated on several occasions.  
 
Information is very well organised and argument is expressed 
clearly and coherently.  There is good use of specialist 
terms/vocabulary and spelling, punctuation and grammar are 
generally accurate. 


Level 4 16-20 


Candidate demonstrates excellent knowledge, understanding, 
analysis and evaluation using economic concepts and theories.  
The ability to synthesise and make connections between 
different parts of the subject content is fully demonstrated 
throughout the answer. 
 
Information is very well organised and the form and style of 
communication is highly appropriate, using specialist 
terms/vocabulary with facility.  There is very good use of 
specialist terms/vocabulary with few, if any, errors in spelling, 
punctuation and grammar. 
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Question Answer Mark 
allocation 


Assessment 
objective 


9 To what extent can a perfectly competitive market 
always said to be efficient?   


Candidate shows as clear understanding of allocative and 
productive efficiency. 


Identification and explanation: 


Perfect competition is allocatively efficient in the short run 
and the long run-explanation. 
Candidates may link the maximisation of the consumer 
surplus and producer surplus to allocative efficiency. 


Perfect competition is Pareto efficient. 


Perfect competition is productively efficient in the long run-
explanation. 


Perfect competition is X- efficient 


Use of diagrams to support this (short run and long run). 


Up to the top of level 3 for a very good explanation of why 
perfectly competitive markets are efficient. 


Evaluation: 
Perfect competition is not productively efficient in the short 
run (supporting diagram) as output is not at minimum 
average cost. 


20 
AO1 4 
AO2 4 
AO3 6 
AO4 6 


© WJEC CBAC Ltd. 


50 







Question Answer Mark 
allocation 


Assessment 
objective 


Perfect competition is not dynamically efficient as perfect 
knowledge gives no firm an incentive to engage in R&D. 


No consideration of external costs in pricing/output thus 
not socially efficient. 


Lack of economies of scale and synoptic link to 
macroeconomic issues such as impact on competitiveness 
and balance of payments. 


Candidates may compare monopoly and perfect 
competition ie the saving in resource costs of monopoly 
due to economies of scale being higher than the welfare 
loss ie gains in productive efficiency offset some or all of 
the allocative inefficiency. 








Sticky Note

Understanding shown of the characteristics of perfect competition.











Sticky Note

Dreadful labeling of a potentially very good diagram.



Sticky Note

The candidate could have mentioned that perfect competition is not productively efficient in the short run.



Sticky Note

The candidate needs to show a deeper understanding of allocative and productive efficiency.







Sticky Note

A brief synoptic point about international competitiveness.



Sticky Note

Some evaluation about a lack of dynamic efficiency and economies of scale in perfect competition.







Sticky Note

X-efficiency could have been brought in.

A level 3 answer which would have gone into level 4 with more development  on allocative and productive efficiency.
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SECTION B


Answer one question from this section.


9. To what extent can it be said that a perfectly competitive market is always efficient? [20]


Answer the question from Section B using the following pages.
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